2.3_1 Factoring Quadratic Expressions (Fall 2019)-s20 February 27, 2020

Are there any questions from last day's assigned work you would like to see on the board?

Correct from last day: pp. 93-94 # 2, 3, 5, 6, 7a, 8, 15

P-93 3. Facror, using the greatest common factor.

a) 4x? — 6x + 2 o Sala+7)+ 2(a+7)
b) Sx* — 20x d) 4m(3m —2) — (3m — 2)
6. Facror.
0. 27%* - ox d —24 —4a+6
b) —8m* + 20m e x(x+7)—2(x+7)

o 10x* — 5x + 25 f) x(3x—2) + 3x—2)(x+1)
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P-93 7. The area, A, of each figure is given. Determine the unknown

measurement.

a) A= 18x* — Ox ’4; /g}(% %(

?

9x ZQK(Q/(“(\

. . ~ - 2 -
8. The formula for the surface area of a cylinder is SA = 27r~ + 27rh.
B A cylinder has a height of 10 units and a radius of 7 units. Determine
a factored expression for its total surface area.

SA = omrd+aTn(10)
—onr s !
= @W((( + lb>
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p. 94

Extending

15. Factor.
a) Sx’y — 10x° o 3x(x+y)—y(x+y)
b) 10a%6° + 2046 — 15476>  d) Sy(x —2) — 7(2 — x)

=S Zj (X’oﬂ“% (>(>(— ;\
iji&ﬁﬂfjgii>

= &&76%*1)

February 27, 2020
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Factoring Warm-up: This part is not on the handout.

a) List all the factors of 12
(This means list all the numbers that divide into 12 with no remainder)

[
S
> Y
Y/

b) List all the factors of 20 c) List all the factors of 30

a0 [ 50
a0 9 (Y
| O

]
)
S
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Today's Learning Goal(s): e b 27 /20
(Every lesson)
By the end of the class, | will be able to:

a) factor simple trinomials of the form x2 + bx + ¢
MCF 3MlI

2.3 Factoring Quadratic Expressions

Recall: Factoring expresses a polynomial as a product of polynomials.

(x+2) x+3) = X +5x+6
Factoring

Whenever you are faced with a factoring question, ALWAYS try to Common Factor FIRST

Ex.1 Factor the following trinomials. =

e r

a)m pg/f& b) x2+7x+12 ’%é c) x2—=Tx+12
= e g5 | (5 o 1 :)(9’3%— X4 (A
X 3% > AN Ao AT e
:)C()(+'3§4>‘(Kﬂ> 4243 l{@wﬁ(&@) - K(x3) = (- >)

=(a3) (ke ) %’f = (<63 ) _ (3K ‘/)/\,

/J’{(ﬂj 4'_(0 '\7
d) 2+6x—16 2 ) =3x—10 5 ) x2=Tay+ 12y

G
=(x ~9>(><+% =(x +D\>(><—g§ ?6@53)&(‘ ol j}
> ¥yt =g
E(X“—Q)(Yﬁg) _
/7P'(\2>
g)) 3x2+3x—6 2) 3x2+3x—-6 (3(4;) h) x2+4x+7\ !
= SO(D\JV\(”Q\> /'3)5—1—6\('3>< —gz@ D/\/F
7
=3 (¥~ (}@g = 3k () 3cta) & E
= (x+2)(3x-2) PR
i) 2x2+ 18x +40 ~ (et a)3)y-¢) 1) —2x2+ 16x—30
:Q(Xa4— C(K+QO> - 5&1«97(%() :—;z(xa 3)<+(7>
22 ) e 5) =203 x-5)
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Today's Assigned Practice includes: pp.99-100#2, 3,6,7,9, 14 & READ pp. 101-102
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